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1 9:30 1500m —553 P 6 1 9:30 TE = Bk INS 6
2 9:40 1500m —ax R 3 2 FE R Bk I 3
3 9:50 1500m F 58 R 13 3 10:45 E = Bk F 5 12
4 10:05 100m 28 24H37%+2 12 4 E = Bk P 5
5 10:15 100m 1% 24837 +2 11 5 10:45 EER —25 1
6  10:30 800m & P 3
7 10:35 800m INEB P 9
8  10:45 800m IN& R 4
9 11:00 200m Hhx ® 1 IEF BRI ¥#H EAl SmH

10 11:05 200m —Bx R 1 1 9:30 E = Bk N 1
11 11:15 50m N2 BB R 2 2 10:30 E =Bk F5 2
12 50m N & R 1 3 E= Bk P 4
13 50m N2 & R 1 4 10:30 EEik —=3B 1
14 11:30 100m INS B R 2

15 100m N4 BB R 2
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23 100m —Ba% * 2 4 PYK  —BX 1
24 12:05 100m 18 S 4 5  11:30 vv~uvrzo- hEB 13
25 100m h28 S 8 6 AUEZELE th#c 2
26 100m F 35 R 6 7 12:30 Atk 5 2
27 12:20 100m h1& R 8 8  12:30 Atk —=5 3
28 100m h2%& R 8 9 Atk —BX 1
29 100m h 3% R 2
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34 4 x100mR N%-9 R 2

35 13:30 4 x100mR HF5 R 2

36 4 x100mR 2ok q R 2

37 13:40 4 x100mR YL—a~R>+ *® 2




